
SCK

LDN

A[7:0]B[7:9] A[7:0],B[7:0]

/INI

INI

CNT(160) 8以上 1 2 3 4 5 6 7 8

/STOP

OCK

Breg 　　　B[7:0]

Areg 　　　　　/A[7:0]

sel(151) Hiz(resistivH) /A7 /A6 /A5 /A4 /A3 /A2 /A1 /A0 Hiz(registivH)

add_A A7*B[7:0] A6*B[7:0]A5*B[7:0] A4*B[7:0] A3*B[7:0] A2*B[7:0] A1*B[7:0] A0*B[7:0]

add_B

Σ[15:0] 0

Z[15:0] ↑=A[]*B[]

繰り返し加算型　乗算機（８ｂｉｔ＊８ｂｉｔ＝１６ｂｉｔ）　同期実行

Z[4:0]*2^11 Z[3:0]*2^12 Z[2:0]*2^13 Z[1:0]*2^14 Z0*2^15Z[5:0]*2^10A[7:1]*B[] A[7:0]*B[] Z[14:0]*2 Z[13:0]*2^2 Z[12:0]*2^3 Z[11:0]*2^4 Z[10:0]*2^5 Z[9:0]*2^6 Z[8:0]*2^7 Z[7:0]*2^8 Z[6:0]*2^9A[7:2]*B[]A7*B[] A[7:6]*B[] A[7:5]*B[] A[7:4]*B[] A[7:3]*B[]
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